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King Fahd University of Petroleum and Minerals
Prep-Year Math Program

Recitation (2. 2 and 2.3)

Question 1: Which one is TRUE about the graph of the following function?

The function is

(a) increasing on [0,2) and decreasing on (—o0,).

(b) increasing on [0,2) and decreasing on (—,0) U (0,00).
(c) increasing on (—,0]U[2,0) and decreasing on][0,2). '\
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(d) increasing on (—o0,0) U (2,%0) and decreasing on[0,2). 3 -z -1 1 2 3N4 5
(e) increasing on [0,2) and decreasing on (—o0,0]U[2,0).

Answer: (e)

Question 2: The equation that defines y as a function of x 1s

(a) xz—yzzl]
(b) x—|yl= -5
() y= %4

d y=3Vx+4
(e) (x—5)>=25—(y—3)°

Answer: (d)
Question 3: Sketch the graph of f (x)=|x|-x .

Solution:  f (x)=|x|-x

| x=x ifx >0
l=x —x ifx <0
B 0 ifx=>0
T l-2x ifx <0
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x[-1 if  x<1
Question 4: Consider of the function f (x)={-x - —-1 if 1<x <2
3 if x=>2
a) Graph f (x)

b) Find the domain and the range of this function.

¢) Find f (-3, f @ and £ (z)

d) Find the x-intercept and y-intercept.

Solution (a):

Answer (b): Domain = (—,00)  Range =(-5,-2]U[-1 )

Answer (C):
f (-3)=|-3-1=3-1=2

2
f (ﬂj:_(_f] _1:_E_1: —16-9_ 25
3 9 9 9

f(7r)=3

Answer (d): x —intercept: x =-1 , (-1,0)
y —intercept: y=-1 , (0,-1)

Page: 2 15-Nov-18

, Math 001 Recitation: 2.2 and 2.3, Answered by Sayed Omar, Page:2 15-Nov-18



